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Statement (A) Unsaturated fats are more reactive than
saturated fats.

Reason (R) Unsaturated fats have only one bond in their
structure.

Code :-

(a) Both A and R are correct and the correct explanation of
AisR

(b) Both A and R are correct, but the correct explanation of
AisnotR.

(c) A s correct, but R is wrong

(d) A is wrong, but R is correct

Which one of the following statements is not correct?

(a) There is no Vitamin B in milk

(b) Due to lack of Vitamin A (Retinol) the skin becomes
dry and flaky.

(c) Pain in joints is one of the symptoms of scurvy.

(d) Deficiency of Vitamin-B, (thiamine) can cause heart attack.

Statement (A) Glycine, serine and tyrosine must be included

in the human diet.

Reason (R) Essential amino acids cannot be synthesized in

the human body.

Code:-

(a) BothAand R are correct and R is the correct explanation
of A.

(b) Both A and R are correct, but R is not the correct
explanation of A.

(c) A is correct, but R is wrong.
(d) A is wrong, but R is correct.

Itis desirable to include fresh fruits and vegetables regularly
in the diet, as these are good sources of anti-oxidants. How
do anti-oxidant elements help a person remain healthy and
live longer?

(a) They activate those enzymes in the body, which are
necessary for the synthesis of vitamins and help in
preventing vitamin deficiency.

(b) They prevent excess oxidation of carbohydrates, fats
and proteins in the body and help in protecting energy
from unnecessary wastage.

(¢) They neutralize free radicals produced as by-products
of metabolism in the body.

(d) They activate some genes in the body cells and help in
delaying the process of ageing.
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Where is glycogen stored in our body for the use of all the
cells of the body?

(a) inthe liver

(b) In liver and skeletal muscles
(c) Skeletal muscles (d) in tissues
Contains chietin—

(a) Homopolysaccharide
(c) polypeptide (d) Polynucleotide

NAD is the sugar found in NADP and ATP.

(a) Deoxyribose (c) Arabinose

(b) Ribose (d) Menoz

Which sugar is also called levulose?

(b) Fructose

(d) Menoz

Which sugar is called dextrose?

(b) Fructose

(d) Menoz

Which of the following sugars is not found freely in nature?
(b) Fructose

(d) Menoz

Which of the following is not a carbohydrate?

(a) Methionine (b) starch

(c) glycogen (d) Glucose

Pentose sugar, which is found in nucleic acids

(b) Xylulose

(d) Ribose

(b) Heteropolysaccharide

(a) Glucose
(c) lactose

(a) Glucose
(c) Galactose

(a) Glucose
(c) lactose

(a) raffinose

(¢c) Glucose

Table sugar is manufactured
(a) by lactose (b) by sucrose
(c) by maltose (d) by glucose
Which of the following is the sweetest sugar?
(b) lactose

(d) sucrose

(a) maltose
(c) Fructose
Starch is obtained by complete hydrolysis of

(b) Glucose

(d) sucrose and fructose

(a) sucrose
(c) Glucose and fructose

Which enzyme is used in the process of producing alcohol
by fermentation?

(a) Invertus
(c) amylase

(b) lipase

(d) Zymes

Due to deficiency of copper

(a) Pellagra

(b) Anemia and damage to the central nervous system
(c) Influenza

(d) Xerophthalmia

In whose absence does Ca deficiency occur in bones?
(a) Vitamin-B (b) Vitamin-E

(c) Vitamin-C (d) Vitamin-D
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Apart from C, H, O, N, S, P etc. are also found in which of
the following?

(a) protein (b) fat

(c) Carbohydrate (d) Vitamin

Enzymes are absent in which of the following?

(a) algae (b) fungus
(c) bacteria (d) virus

Essential fatty acids for mammals are

(a) Linoleic and glutamic acids

(b) Linolenic acid arachidic

(c) Linoleic and arachidonic

(d) Arachidonic and Arachidic

The most important reserve food among animals and plants
18

(a) fat

(c) protein

(b) Vitamin

(d) Carbohydrate

Fat is essential for blood clotting

(a) Lecithins (b) Cephalin

(c) Phosphotidyl serine (d) Phosphotidyl inositol
Linolenic acid is an unsaturated fatty acid, the best source
of which is-

(a) Cotton oil
(c) Sunflower oil

(b) Groundnut oil

(d) Coconut oil

Fatis —

(a) Ester (b) acid

(c) Alcohol (d) Hydrocarbon

Where do fats, carbohydrates and proteins get digested?
(a) inthe small intestine  (b) in the large intestine
(c) in the stomach (d) in the liver
Glycogen remains stored
(a) In liver and muscles (b) only in the liver
(c) only in muscles (d) in pancreas
Which of the following is not matched?

(a) glucose — blood sugar

(b) Fructose — fruit sugar

(c) maltose — honey sugar

(d) lactose — milk sugar

Which of the following is most necessary and responsible
for meeting the daily needs for obtaining energy?

(a) fat (b) Carbohydrates

(c) protein (d) Saccharin

Which of the following is the best example of complex sugar?
(a) Glucose (b) sucrose
(d) Starch

Milk is an essential and important nutrient fluid for our life.
Which of the following options is most suitable for obtaining
the nutrients found in milk?

(a) Maltose, Gluten, Vitamin B5

(b) Lactose, casein, Vitamin B12

(c) maltose

(¢) Sucrose, hordine, Vitamin A
(d) Maltose, Prolamins, Vitamin D
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Which of the following carbohydrates is found most in the
outer layer of grains and bran obtained from wheat flour?
(a) maltose (b) Starch

(c) Cellulose (d) lactose

Which of the following causes sweetness in milk?

(a) sucrose (b) maltose
(d) Saccharin

Capsules are used to supply medicines to the body which
are made of starch, what is starch?

(c) lactose

(a) Monosaccharide
(b) disaccharide

(c) Oligosaccharide
(d) Polysaccharide

Ramesh is a laborer in a factory and he needs more energy,
which of the following nutrients does he need?

(a) Carbohydrate (b) fat

(c) Vitamin (d) Mineral elements

Study the following statements carefully -

1. In carbohydrates, the ratio of carbon, hydrogen and
oxygen respectively is 1:2:1.

2. Fatis the greatest source for energy. 3. The bark of trees
and plants is made of cellulose.

4. The presence of starch or starch present in the food is
estimated by drops of iodine.

5. Our books and notes (currency) are made of cellulose.
6. Insect skin with special dextrin carbohydrates is made.
Which of the above statements is incorrect?

(a) Statement 6 only

(b) Statement 5 only

(c) Statement 4 only

(d) Statement only.

. Which of the following statements is incorrect?

(a) Due to lack of insulin hormone in the body, glucose
does not get stored.

(b) Glycogen is called organic carbohydrate.
(c) A sugar called ribose is found in DNA and RNA.

(d) Boiled potatoes and rice are considered good sources
of cellulose.

. The quantity of which increases in various vegetables like

gourd, pumpkin, ridge gourd etc. which are left lying in the
field for a long time.

(a) Cellulose
(c) Fructose

(b) sucrose

(d) starch

Which of the following examples is related to artificial
sweetener?

(b) Sacron

(d) Sugar

Artificial sweeteners are low in calories and have zero

calories and are especially useful for diabetic patients, which
of the following is not an artificial sweetener?

(a) sucrose
(c) Sucralose

(a) Sacron (b) sucrose

(¢) Neotame (d) Sucralose
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Study the following statements and choose the wrong
statement if any:

(a)

Sucrase, an enzyme released from the small intestine,
digests sucrose.

(b)
(©
(d)

Cellulose cannot be digested by humans
Carbohydrates perform structural and storage functions.

Maltose is a disaccharide in which glucose and fructose
are found.

42. Study the following statements and choose the incorrect
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statement:
(a) Carbohydrates are called staff of life.

(b) Carbohydrates of aldehyde and ketone group are the

simplest carbohydrates.
(c)
(d)

L type monosaccharide is essential in human body.

Raffinose is actually an example of a trisaccharide or
oligosaccharide.

Sucrose contains which of the following monosaccharide
units?

(a) Glucose and fructose

(b) glucose and glucose

(¢) Glucose and galactose

(d) Fructose and galactose

Which of the following is a non-reducing sugar?

(a) galactose

(b) Glucose

(c) Fructose

(d) sucrose

Which statement is wrong regarding fructose?

(a) Itis called ketohectose.

(b) Itis present in honey.

(c) Ithas'L' configuration.

(d) Itis also known as Lacvolose.

Which of the following is known as beet sugar?

(a) Fructose (b) Glucose
(c) sucrose

(d) lactose

Starch : Plants, ................. : Animals

Fill in the blanks as per the above relation-
(a) Glucose (b) maltose
(c) Glycogen (d) sucrose

Which of the following is the best example of energy?
(a) fat (b) Carbohydrates

(c) Vitamin (d) protein

The abundance of both protein and fat is highest.

(b) Peanuts

(d) Sunflower

(a) coconut

(c) Soyabean
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Study the following statements and choose the incorrect
statement:

(a) Carbon, hydrogen and oxygen are found in abundance
in saturated fat.

(b)
(c)

Ghee, butter and fat are examples of saturated fat.
Excessive consumption of saturated fat is harmful for
our health.

Saturated fats can be in liquid state at normal
temperature.

(d)

Which of the following pairs is an example of saturated fat?
(a) Coconut oil, ghee (b) Fish oil, coconut oil
(c) Soybean oil, olive oil  (d) Sunflower oil, sesame oil

Vanaspati Ghee (Dalda) is which of the following types of
fat?

(a) saturated fat
(c) unsaturated fat

(b) saturated fat

(d) essential fatty acids

We should not consume saturated fat and transsaturated fat
in excess and for a long time because-

1. It increases obesity.

2. Causes congestion in the arteries of the heart.

3. Affects the working capacity of the brain.
4

It also causes non-communicable diseases like diabetes
etc. The correct option from the above is-

(a) Only?2,3 and4 (b) Only 1,2 and3
(¢) Only 2 and 4 (d) 1,2,3and 4 all

Study the following statements and which of these statements
is true with respect to the function of fat.

(a)
(b)
(©

Fat controls the temperature of our body.
Fat protects our soft organs.

Fat is helpful in the formation of cells and tissues of the
body.

(d) more than one of the above

Study the following statements and choose the wrong
statement:

(a)
(b)
(©

The process of fat formation is called esterification.
Fat is not soluble in alcohol and petrol.

cholesterol, hormones, vitamin D and major enzymes
are essential role in the formation.

(d)
Which of the following is not a natural source of Omega-3
and Omega 6?

Spoilage of fat is called oxidative rancidity.

(a) Sunflower and almond

(b) Walnut and fish oil

(c) Olive and avocado

(d) Vegetable ghee and butter

Which statement is incorrect regarding low density
lipoprotein (LD1).

(a) Itis good cholesterol.

(b) TItis bad cholesterol.

(c) TItincreases the amount of fat in the body.

(d) It reduces the amount of protein in the body.
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62,
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64,

65,
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67.

3T Tl o1 Wafea frefafea weml &1 sreram s

qAT TTA FUT HT I HIfTT-

(a) oTHHl ot o TOEtE ®9 B wEA / EEgNH /
afferdioM & e HiSE B 2

(b) STHIHT 3171 THRI TRIX fafor & fore somey emavaes ==t
B R

(c) 10 YhR & ST 370 TUR foau ST Saeash B &
o< = amr T Tl ¥ oA R gl

(d) o=l et WIS fefor 1 s B ©

qHa & 916, T8, ST @9, THa & Wi, TR, i@ @
9= o gE | HE-9 9 qE S e

(a) Twife OEESIEE

(c) TegHE (d) gerife

e qd, 3T, At 9 ol sl | forme W 2
(a) seEA (b) it

(c) Hufes (d) fe=m

Y1 9 Uihias Hid ¥ S fAfated i ot wmfe qen
TH O o foewey 1 99d Sifsu-

1. ToRfad (Glutelins) — 7§

2. TSI (Albumins) — &K

3. f&= (Histone) — I

4. TTESEA (Fibroin) — (TH T €W

faseq :-

(a) Haa 1 (b) Faa 2

(c) Haa 3 (d) Faa 4
T U 1 HRO-

(a) WM &t HH (b) Ssit T HHE
(c) Toarfmm =t &t

(d) WA F St g Rt HE

S e i % SR ST TR o | |1 Snthae B
? o 39 YRR 1 WA B-

(a) Ifeeri gdm (b) HME FEA

(c) TEEH! HIEH (d) fordt 9=

T feen W a8 S 8-

(a) 3T & IE H (b) 3R & TH H

(c) TR & TH | (d) T & T o

YA & wE 9 et Fefafed semi w1 seem Fwifs
TAT TTeTd HYA T TIT HiTT-

(a) IR T Sdehl 1 AT o AT

(b) T & &R ! AN I A0

(c) &M 9 TSEH 1 fmtor

(d) ST H 9 TH 9 Ao

T8 H THS T A 7-
(a) e (b) TegfEA
(c) TN (d) Tegfe

Ty faem areft A @ wfdfed R # fha W 9eE #)
LI et 2l
(a) 30 Tm/fEA
(c) 100 Tmm/fea

(b) 40 TM/fEA
(d) 70 TM/fEA

58.

59.

60.

61.

62.

63.

64.

Study the following statements related to amino acids and
choose the false statement-

(a)

Amino acids contain carbon/hydrogen in chemical form
Oxygen and nitrogen are present.

(b) Amino acids are more essential for building our body.
Doesn't happen.

(c)

10 types of amino acids are more essential for us, which
we have to take from external foods.

(d)
Which protein is found in human hair, nails, raised skin,
animal horns, hoofs, beaks and feathers of birds?

(a) keratin (b) Oxytocin

(c) Albumin (d) elastin

It is a protein present in human teeth, eyes, bones and hair
roots.

Amino acids are the units of protein formation.

(a) elastin (b) collagen
(d) histone
Understand the following pairs related to protein and natural

source and choose the false option among them-

(¢) keratin

1.  Glutelins — Wheat

2. Albumins — Blood

3. Histone — Lentils

4. Fibroin — silk thread
Option :-

(a) onlyl (b) only 2
(c) only3 (d) only4

Cause of Marasmus disease-

(a) Protein deficiency

(b) lack of energy

(c) Vitamin deficiency

(d) Due to lack of both protein and energy

When both amino acids and fats are involved during protein

formation, then this type of protein will be-
(a) Nuclei proteins (b) Chromo protein
(¢) Glyco protein (d) Lipo protein
Most protein is found in-
(a) Inurad seeds (b) In pigeon pea seeds

(¢) Inpeas (d) Insoybean grains

65. Study the following statements related to the functions of

66.

67.

proteins Do this and choose the wrong statement-
(a) Formation and repair of cells and tissues

(b) Control of the amount of acid and alkali

(c) Production of hormones and enzymes

(d) more than one of the above

The white color of milk is-
(a) Casein (b) Elbumin
(d) globulin

How many grams of protein does a lactating mother require
in her daily diet?

(c) lactose

(a) 30 grams/day (b) 40 grams/day

(c) 100 grams/day (d) 70 grams/day

KGS Campus Patna -6 Mob.: 8877918018, 8757354880

| KGS -7.




68

69.

70.

71,

72,

73.

74,

75.

76.

77.

78.

Frefofead § 9 ®F- weF @ B

(a) Toafim A oiR er@l = e e 2l

(b) foarfd Bl @ B2 W@ 9 ® W™ Bl el

(c) Taift C worm emar fomr o "o =& e 2
(d) foaiftm Deart erfeersl o <fal & foru mevee e 2
Frefefed g4 & o wF-w fokey To@ 21

(a) Toafm A —3fega

(b) foafm Bl — si-a1

(c) ot C — wwdt

(d) faerfeq D — @@ @@ &t T

frefafed & @ #F-w foerfm =@ faefammaem s
Tt & &9 § S S @)

(a) faafmm A (b) faarfam E

(c) faarfm K (d) feafs= D

frAfafea wemi &1 s1eaaa ST a2 Terd o & 994
Hife-

(a) Taafe B12 shae =g @idl 9 & < e §

(b) Taaiftm B12  Wiepfaes &9 o hiaree 9@ Sl 2l
(c) Toafi A=t et 9 59 @ X ol & S R
(d) WA 1 HE W oi5eT Bl GEEA Bl 2
Fretfefed & wH-a1 faefid so o soreie 2

(a) et (b) aTTiehfeerhie
(OIREEIESIER] (d) TRt

Frefafed & @ sE-w fofiE o 0 e o @
Jeud A T S HHE 59 S el

(a) faarfi= B6 (b) o=t B9

(c) faarif= B12 (d) SRt ¥ 9 gt

foafm @ 52 gl ° sA-w gafed T2 2

(a) foarfm D — gemwet = gen I

(b) faerfi E —ufx siwan

(c) foarfmm B2 — fwetifag

(d) o™ B7 — @ & = &l 9HE

afe i e gdian, B0 wfesan, =, 1M, TR anfe @
9% X 3 Frfafed 5 9 fea faafm =) s 0@ @
Eieuil

(a) faafmm C (b) faarta B-5

(c) faarfm K (d) foafmm A

Frefefea & @ g faafim = ariefeasia ®ed 2
(a) faafd D, (b) faafam D,

(c) faafe B, (d) foafam B,

fr=fafed & @ fora faerfom =) st 9 Yot steran 3D T
B ® GHEAT Bt 2

(a) HeEHia

(b) Trenfem stean fmifefr st

(c) TRt

(d) TEarFAfe

forg faafm &1 & ¥ @ & @6 Tl S 2l

(a) faarfm K (b) faarfi= B3

(c) faafmm C (d) faarfi= E

68

69.

70.

71.

72.

73.

74,

75.

76.

71.

78.

Which of the following statements is false-

(a) Vitamin A keeps the skin and eyes healthy.

(b) Vitamin B1 and B2 help in wound healing.

(c) Vitamin C is not helpful in increasing fertility.
(d) Vitamin D is essential for our bones and teeth.
Which of the following pairs of options is incorrect?

(a) VitaminA — blindness
(b) Vitamin B1 — Beri-Beri
(c) Vitamin C — Scurvy

(d) Vitamin D
Which of the following vitamins is known as beauty vitamin
and anti-aging vitamin?

(a) Vitamin A (b) Vitamin E

(c) Vitamin K (d) Vitamin D

Study the following statements and choose the incorrect
Statement:

(a)
(b)
(c)

— to stop bleeding

Vitamin B12 is obtained only from animal sources.
Cobalt is found naturally in Vitamin B12.

Due to deficiency of Vitamin A the eyes become dry
and red.

(d)
Which of the following vitamins is soluble in water?
(a) Retinol (b) Argacalciferol

(¢) Riboclobin (d) Tocopherol

If the vitamin of which of the following deficiency i.e. anemia
is reduced then blood becomes susceptible?

(a) Vitamin B6 (b) Vitamin B9

(c) Vitamin B12 (d) All of the above
Which of the pairs related to vitamins is not matched?
(a) Vitamin D — Sukhandi or rickets

(b) Vitamin E — Night blindness

(c) Vitamin B2 — chlorosis disease

(d) Vitamin B7 — Hair and skin problems

If a person stops eating papaya, green vegetables, ghee,
mango, carrot etc. then which of the following vitamins will
be most deficient?

(a) Vitamin C (b) Vitamin B-5

(c) Vitamin K (d) Vitamin A

Which of the following vitamins is called argacalciferol?
(a) Vitamin D, (b) Vitamin D,

(c) VitaminB,, (d) Vitamin B,

Deficiency of which of the following vitamins is likely to
cause pellagra or 3D disease?

(a) Calciferol

(b) Niacin or nicotinic acid

Cyanocobalamin deficiency causes infertility Is.

(¢) Cyanocobalamin

(d) Riboclobin

Deficiency of which vitamin does not stop bleeding?
(a) Vitamin K (b) Vitamin B3

(c) Vitamin C (d) Vitamin E
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85,
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87.

88,

frfafea wemi o1 remem SifSy 9en 9 w2 &1 99

Hife-

(a) Toaiftd B-6 eAR @@= = =€ e 2

(b) faerfd B12 &1 @ 3-5 aof % J%hd B GUEIA
o ST R

(c) Taafm B17 5@ o foor foarfim 21

(d) ST H 9 Th 9 Ao

Tk T H gEn I 9 -9 fRget s @ g

(a) faafim D3 faerfi B

(b) faafm Cca faarfm K

(c) faafim B2 @ faerifim B12

(d) faafim E 3 faerfim B6

Meed TWH-1 T Meed WE-2 =fafed & 4 fea
forerfg & o= & B

(a) foaf= B (b) faarf= D

(c) faafmm A (d) fo=fam B12

T % 38 H Wo-wws W frefafed § 9 fewwt
Iufefd & wROT B B

(a) HeRISl (b) TN

(c) HEA o HUIH (d) el 3t
Frefofed § 9 SE-81 SRl 9SiEt w1 T2l 2l
(a) % T g%

(b) TeHA T I

(c) 2yad g farad

(d) H=sT 9 HZht

FreAfofen o -9 dive de JEhigiue B
(a) =0 (b) T

(c) FETERSS (d) faarfem
frefafed § Non-Essential 9ives dcel 21T 21
(a) forrfem (b) ST

(c) TSt e (d) =

HH-H FE S (H,0) F1 T 2

(a) SUI=E e o SE HEAl

(b) YRR ¥ STafeTe a1 i ST e

(c) TRl STEm o e

(d) S YA el

RISl WY % I R e el 67

(a) T (b) CO,

(c) fazdt (d) FeARfRe

RISl HYATT & SR B Al fmaretl & wed o et

T AL HIfTU

1. T YT A & qiedd Sifee Heis 3de
o g 2

2. T =t Adifte S= oo Afis | ager B

3. YR Sl THENE § 9gad Bl 2

4. fed S, ga ot § uRafdd i 2

ST 4 ¥ -9 FHUF Tord 2l

(a) Haa 1 (b) FaA 4

(c) a3 (d) SR § g e
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85.

86.

87.

88.

Study the following statements and choose the true statement:
(a) Vitamin B-6 reminds us of our dreams.

(b) Vitamin B12 is stored in the liver for about 3-5 years.
(c) Vitamin B17 is a water soluble vitamin.

(d) more than one of the above

Rickets and beriberi in a human being is caused by the
deficiency of:

(a) Vitamin D and Vitamin B1
(b) Vitamin C and Vitamin K

(c) Vitamin B2 and Vitamin B12
(d) Vitamin E and Vitamin B6

Golden Rice-1 and Golden Rice-2 is a good source of which
of the following vitamins?

(a) Vitamin B (b) Vitamin D

(c) Vitamin A (d) Vitamin B12

The yellow-white color of cow's milk is due to the presence
of which of the following?
(a) Fructose (b) lactose

(d) Beutaric acid

Which of the following is not of ectoparasite?

(c) Casein and Carotene

(a) Leech and mosquito

(b) bedbugs and lice

(c) Tapeworm and ringworm

(d) Mosquitoes and gnats

Which of the following nutrients is a micronutrient?
(a) fat (b) protein

(c) Carbohydrate (d) Vitamin

The following contains non-essential nutrients.

(a) Vitamin (b) Cholesterol

(¢) Mineral salts (d) fat

Which function is not of water (H,0)?

(a) To improve metabolic activities

(b) Removing waste materials from the body

(c) Protection from external shock

(d) to provide energy

What is not necessary for photosynthesis?

(a) water (b) CO,

(c) soil (d) chlorophyll

Study the statements regarding the activities taking place
during photosynthesis.

1. Simple inorganic compound is transformed into
complex organic product.

2. Lower energy compound changes into higher energy
compound.

3. Light energy is converted into chemical.

4. Stored energy is converted into contained energy.
Which of the above statements is incorrect?

(a) Onlyl (b) only4

(c) only3 (d) None of the above
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98,

eRIYl HYATU & AU wed S iR Wl T B

(a) i =1 Mesophyll Tissue

(b) ufaai =1 wuiga U

(c) ufaal =1 ufea

(d) wfs=i 1 STEet™ Tissue

FH-H WA TR Heawor & fou geergol gfaerr Hem
2

(a) Rubisco T2 (b) 2 WA

(c) ieSH qEA (d) PRl N
frefafea w1 sremm wifau-

1. =i 2. W

3. giedt 4. fresh

5. g

HH-1 frshed Halerd T 1 2

(a) 1,2,4 (b) 1,2,3, 4

(c) 3,4,5 d 1,4,5
AR WA 1 ST HH-T1 2

(a) Tl a TmEIfEs OEISIEERIEE]
(c) TegfH wieH (d) =S
M hl GaTTH SIEI0T HE-GT 2

(a) WA, JTHe, TR
(b) 3R, ITT I HER l A

(c) TS, W™, UL

(d) 39, 99, TR

HH-T1 fofe 99 =9 W % HRO S TR 2
(a) faafd B3, B7 (b) faarfi= BI1, B12
(c) faafa B6, B9 (d) fe=ifi= B2, B9

frfafed gmi ® ¥ e g9 61 =9E9 SRife-
(a) TS — Tl IS, T9%

(b) HEE — UAR, HIE, g4

(c) TR — U 1 9H, =™

(d) FAT — @ Hell, 3, & Fosit

U BRYAER foheent Heequl 9id 2-
(a) ©&T (b) T
(c) SifardsH (SRS

= o @ ®H-T1 9@ Sufe dft sfesal & fmon ek
T B A9 Bl ©-

(a) TR (b) HfeeEm

OREED (d) Tafasi

e TR H RS w1 T HUeU fRY w9 § g B-
(a) YN (b) =

(c) THS (d) TSRS

89

90.

91.

92.

93.

94.

95.

96.

97.

98.

The best and most accurate place for photosynthesis is-
(a) Mesophyll Tissue of leaves

(b) petiole of leaves

(c) Axil of leaves

(d) Xylem Tissue of leaves

Which protein plays an important role in photosynthesis?
(a) Rubisco protein

(b) Tau protein

(c) collagen protein

(d) Fibrinogen protein

Study the following-
1. Ant 2. Bear
3. Elephant 4. Squirrel

5. Polar Bear

Which option belongs to omnivorous group?

(a) 1,24 (b) 1,2,3,4

() 3,4,5 (d) 1,4,5

Round protein is example of —

(a) Actin and myosin

(b) collagen protein

(c) Albumin protein

(d) Tau protein

Which is the best example of protein?

(a) Soyabean, peanut, cheese

(b) Pigeon peas, urad and lentils

(c) Fish, meat, egg

(d) Milk, wax, cheese

Which vitamin combination can cause skin diseases?
(a) Vitamin B5, B7 (c) Vitamin B6, B9
(b) Vitamin B1, B12 (d) Vitamin B2, B9
Select the wrong pair from the following pairs:
(a) lodine — sea food, salt

(b) Cobalt — cheese, meat, milk

(c) Fluorine — in drinking water, tea

(d) Chlorine — dry fruits, grains, green vegetables
Sea weed is an important source of-

(a) iron (b) chlorine

(c) oxygen (d) iodine

Which of the following elements is present and necessary
for the formation and maintenance of bones?

(a) Magnesium (b) Calcium

(c) Zinc (d) Silicon

In what form is carbohydrate re-stored in the human body?
(a) sugar (b) starch

(c¢) Glucose (d) glycogen
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99, U & faior & fou fraw ol srell &t eTraweeha
B -
(a) 10 (b) 15
() 20 (d)25
100.TSTEH §el ®9 ¥ 1 B &-
(a) FERESS  (b) PGkl
(o) fafre  (d) T wfere
101,99 dF & ded o fAfafen 3@ w® faar sifsm-
. TS :
2.613&3 : =
3. fefemm : A
Sw T A ¥ SA-T/a gafer 2782
(a) Fo 1 (b)%ad | 3R 2
(c) ®adt 2 3R 3 (d) et 3
102. fr=fafed W foem Sifsa—
1. 5« 2. HEA SRR
3. @S 4. AtFESH
4. FARNMESA 5. RS
7. G
ST | ¥ -9 qd, TEW & ford SO HieH se
?q AEwH B2
(a) Fod 1,2, 4,5, 6 37
(b) & 1,2, 3,5 3 7
(c) ®ad 1,2, 3, 6 3N 7
(d) ®od 1, 2,3,5,6 37
103, =4 | SIS U 9 HROT 9 2l 22
(a) SMER ¥ WA Haiesee, fohg € St !
(b) 3TER H wEiEESS 3R a9 %I g 76, fhg wem
Eafcail
(c) MR ® v faerfm, fog o= =t =t
(d) TeR ¥ wara a&, fq faartami =t wHt
104.%ell & HIS T H1 HRUT B:
(a) WS (b) TEES
(c) TN (d) %S
105.9Md IR B vkl & d3d § 1 el W faam wifsa-
1. 39 A @9 § wferd HeH 2l
2. E-TR @ TR fmf § gere e 2

3. 991 IRR w1 Ifg & @ qen ueH =t & fod savas
g 2

ST weAl § W wA-A/E TE 2?2
(a) o 1 (b) B 1 iR 2
(c) o 2 3N 3 (d 1,2 3R 3

99. How many amino acids are required for the formation of

proteins?

(a) 10 (b) 15

(c) 20 (d) 25
100.What are enzymes basically?

(a) Carbohydrate (b) protein

(c) lipid (d) amino acids
101.Consider the following pairs with reference to the digestive

system.

1. Amysase : Fat

2. Lipase : Starch

3. Trypsin : Protein

Which of the above pairs is/are correctly matched?
(b) 1 and 2 only
(d) only 3

(a) only 1
(c) 2 and 3 only
102.Consider the following...

1. Water 2. Carbon dioxide
3. Minerals 4. Oxygen

4. Chlorophyll 5. Nitrogen

7. light

Which of the above elements are necessary for plants to make
their own food?

(@)Only 1,2,4,5,6 and 7
(b) Only 1, 2,3, 5 and 7
(c)Only 1,2,3,6and 7
(d)Only 1, 2,3, 5,6 and 7
103. What causes kwashiorkor disease in children?
(a) Adequate carbohydrates in the diet, but lack of fat

(b) Sufficient amount of carbohydrates and fats in the diet,
but lack of protein.

(c) Adequate vitamins in the diet, but lack of fat
(d) Adequate fat in the diet, but lack of vitamins
104. The reason for sweet taste of fruits is:
(b) ribose
(d) Fructose

(a) maltose
(c) lactose

105.Consider the following statements regarding nutrients in the
human body.

1. Milk in itself is a balanced food.

2. Iron-rich foods are helpful in blood formation.

3. Fat is necessary for body growth and protein for energy.
Which of the above statements is/are correct?

(a) Only 1

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1,2 and 3
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106. FreAfafea wfsi ® faar Hifsa—
1. ShfeEw 2. @
3. Gifesm
TR T § W A W U e #
Tereehl/fermeh! STTETsha Bt 872
(a) ®erd 1 (b)haet 2 3R 3
(c) Had 1 3R 3 (d 1, 2 3R 3

107. FreAfafea wemi W faar HifsE—
|. HEEESE AT % ford Sl 1 THAD Wi R
2. 3T W & 39T 91, 3T BH W, Afhad it
i R
ST FoAl § § BAE-A/E T 222
(a) ®ad 1 (b)Had 2
(c) 1 3R 2 TMi(d) Jd 1 SR E 2

108, 99K H ek ATt USaRen Hf5M Ayt €| g8 STl vl
Y o Bl ® SR 31 Tl Al & WAM Bl hedld YR
# 2, R 9 77 959 el § w9 Sal 9yt ® &9
T T B 81 T TH SWIEE B N SR B2
(a) TEeH W= < e € e g €, fRg S &
faudid 9% OMa IR | SAEvas TSEH & A9E & HROT
T SffdteRa =&l =
(b) & TERH AER FHSHT! ¥ W Bl 2, 76 SHhl
Hig1 @R df S el 7, fhg a7 sifedie-giaiE @
S B
(c) UEween =t foren 21 et e €, fohg TR o erqenn
TH 9% 9% FHP TH SUEAl (HeEieneed) o iafid
B S R, S R hard Tl <9
(d) TERH WE W W e A ST e e €, 3T
g ¥ TR H a9 g 9 SAfRfisd g W HH
HeAll 8w 2

106. Consider the following minerals-
1. Calcium
2. Iron
3. Sodium

Which of the above mentioned minerals is/are required
for contraction of muscles in the human body?

(a) Only 1 (b) 2 and 3 only
(c) 1 and 3 only (d)1,2and 3
107. Consider the following statements...
1. Carbohydrate is the only source of energy for humans.

2. Compared to other foods, fat gives maximum energy when
metabolized.

Which of the above statements is/are correct?
(a) Only 1 (b) only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

108. Aspartame sold in the market is an artificial sweetener. It is
composed of amino acids and provides the same calories as
other amino acids, yet it is used as a low-calorie sweetener
in foods. What is the basis for this use?

(a) Aspartame is as sweet as normal sugar, but unlike sugar,
it does not get oxidized quickly due to lack of necessary
enzymes in the human body.

(b) When aspartame is used in food processing, its sweet
taste remains, but it becomes oxidation-resistant.

(c) Aspartame is as sweet as sugar, but after being ingested
in the body, it gets converted into some metabolites which
do not provide any calories.

(d) Aspartame is many times sweeter than normal sugar,
hence food items made with a little aspartame provide less
calories when oxidized.

Qaa
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